

Clairwood Logistics Park
 Basil February Road
 Mobeeni East
 4060



Clairwood Logistics Park
 Basil February Road
 Mobeeni East
 4060

Selwyn@lrssa.co.za

Liquor Runner Clairwoo Clairwood

Http://www.lrssa.co.za

GRV for HALEWOOD INTERNATIONAL - LRSA NR: 3373 (GRV)

Receiver: Morganathan
Checker: Morganathan
Warehouse: HALEWOOD
Sender Ref 1: 29790
Receive Date: 2025-03-24
WarehouseRecv: LR CLAIRWOOD
Sender Ref 2: 102752

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
HRSENGY27524	RED SQ VODKA ENERGY (24 X 275ML)	26/08/26		702	16848
HRSRELOAD245	RED SQ RELOAD ENERGY DRINK (24 X 275ML)	15/07/26		78	1872
HRSBLUE27524T	RED SQ BLUE ICE (24 X 275ML)	06/07/26		234	5616
HBELGINDLEM6	BELGRAVIA GIN and DRY LEMON NRB (12 X 660	11/09/26		400	4800
HRSRED27524T	RED SQ RED ICE (24 X 275ML)	06/08/26		78	1872
HCTPCGBS2752	C TWIST PINA COLADA NRB (24 X 275ML)	13/06/26		78	1872
HRSVODKA750M	RED SQ VODKA (6 X 750ML)	L334		104	624
HBELGRAVGIN75	BELGRAVIA GIN 6 X 750ML	L162		104	624
HHBCITRS24X20	HALL and BRAM CITRUS TONIC CAN (24 X 200	09/05/25		10	240
HBDRYL24X200	HALL AND BRAM DRY LEMON CAN (24 X 200ML)	14/02/26		4	96
HHBLEMONADE2	HALL AND BRAM LEMOANADE CAN (24 X 200ML)	06/09/26		22	528
HHBNSTONIC24	HALL AND BRAM NO SUGAR TONIC WATER CAN (19/04/26		18	432
HRSENGY440ML	RED SQ VODKA ENERGY CANS LIMITED (24 X 44	09/07/26		28	672
HSKDSTRAWBER	SKINNY D STRAWBERRY SWIRL (24 X 275ML)	02/06/26		8	192
HSKILPADTEPEL	SKILPADTEL GIN (6 X 275ML)	16/07/26		16	96
HWCOGUES1X	POGUES (6 X 750ML)	L07		24	144
HRSVODKAPAPP	RED SQUARE VODKA PINEAPPLE (6 X 750ML)	L10		7	42
HRSVODENERIN	RED SQ FLAVOURED VODKA ENERGY INFUSION (L22		23	138
HRSVODLIME75	RED SQUARE VODKA LIME (6 X 750ML)	L27		23	138
HRSVODPASFRU	RED AQUARE VODKA PASSION FRUIT 6 X 750ML	L31		9	54
HSKSTRA/CRE7	SIDEKICK STRAW CREAM (6 X 750ML)	06/02/27		1	6
HSKCOOK/CRE7	SIDEKICK COOKIES/CREAM (6 X 750ML)	06/02/27		7	42
HPEAKYBLINDER	PEAKY BLINDER WHISKEY (6 X 750ML)	L06		25	150
HHASENRACHE7	HASENRACHE HERBAL LIQUEUR (6 X 750ML)	L15		17	102
HMUSGRVGINPI	MUSGRAVE GIN PINK (6 X 750ML)	L16		21	126

Checked By: _____

Receiver: JBK135FS

Transport Company: _____

Checker: COMFORT

Driver Signature: _____

25/03/2025 03:21:38 PM

1/3

Clairwood Logistics Park
 Basil February Road
 Moberi East
 4060



Clairwood Logistics Park
 Basil February Road
 Moberi East
 4060

Selwyn@lrsa.co.za

Liquor Runner Clairwoo Clairwood

Http://www.lrsa.co.za

GRV for HALEWOOD INTERNATIONAL - LRSA NR: 3373 (GRV)

Receiver: Morganathan
Checker: Morganathan **Receive Date:** 2025-03-24
Warehouse: HALEWOOD **WarehouseRecv:** LR CLAIRWOOD
Sender Ref 1: 29790 **Sender Ref 2:** 102752

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
HMUSGRVGINOR	MUSGRAVE ORIGINAL GIN (6 X 750ML)	L03		2	12
HDMFRSRASPR4	DEAD MANS FINGERS RATTLESNAKE R AND R (24	13/07/26		30	720
H7STARSBERRY5	7 STARS BERRY CAN (24 X 500ML)			16	384
HBELGINPITO27	BELGRAVIA PINK TONIC NRB (24 X 275ML)	27/07/26		19	456
HBELGINTON27	BELGRAVIA TONIC NON ALC (24 X 275ML)	03/08/26		3	72
HAPPELSTOUTE	APPEL STOUTE FOUTE 275ML NRB DONKER RUM	31/07/26		1	24
HBELGINDCHY2	BELGRAVIA GIN and DARK CHERRY (24 X 275M	26/06/26		39	936
HDMFRSRASPR2	DEAD MANS FINGER RATTLESNAKE RUM and R	02/07/26		29	696
HBUFFELLAGER	BUFFELSFONTEIN LAGER (24 X 340ML)	14/11/25		6	144
HBUFFELKOLBO	BUFFELSFONTEIN AND COLA BOEPENS (24 X 27	01/07/26		4	96
HBUFFELKOL66	BUFFELSFONTEIN and KOLA (12 X 660ML)	18/07/26		27	324
HBUFFELBRA6X	BUFFELSFONTEIN BRANDEWYN (6 X 750ML)	L197		34	204
HBUFFELBRA200	BUFFELSFONTEIN BRANDEWYN (12 X 200ML)	L198		3	36
HBELGPLATGN7	BELGRAVIA PLATINUM (6 X 750ML)	L15		35	210
HCTRUMWHITE7	C TWIST WHITE RUM (6 X 750ML)	L35		21	126
HCTRUMSPCED7	C TWIST SPICED RUM (6 X 750ML)	L4		4	24
HDMFDARKRUM	DEAD MANS FINGER DARK RUM (6 X 750ML)			1	6
HGELSBLENDW	GELSTON BLENDED WHISKEY (1 X 750ML)	L02		9	54
HHOBSSWINEBRU	HOUSE OF BNG BRUT (6 X 750ML)	L05		2	12
HHOBBLANCNTA	HOBNG BLANC NECTAR PACKED IN CARTONS 6 X	L41023		2	48
HOBROSENECTA	HOBNG ROSE NECTAR PACKED IN CARTONS 6 X 4	L41125		5	120
HDMFRSRASPRP	DEAD MANS FINGERS RATTLESNAKE POUCH (12	18/02/27		3	36
HORISSLING300	ORIGINAL ICE SINGAPORE SLING 24 X 300ML	13/03/27		17	204
HORICOSMOP30	ORIGINAL ICE COSMOPOLITAN 12 X 300ML	20/02/27		16	192
HORIMOJITO300	ORIGINAL ICE MOJITO 12 X 300ML	17/01/27		20	240
HORIMARG3001	ORIGINA ICE MARGARITA 12 X 300ML	03/02/27		24	288
HORIPINA300125	ORIGINAL ICE P/COLADE 12 X 300ML	06/03/27		31	372

Checked By: _____

Receiver: JBK135FS

Transport Company: _____

Checker: COMFORT

Driver Signature: _____

25/03/2025 03:21:38 PM

2/3

Clairwood Logistics Park
 Basil February Road
 Mobeni East
 4060



Clairwood Logistics Park
 Basil February Road
 Mobeni East
 4060

Selwyn@lrsa.co.za

Liquor Runner Clairwoo Clairwood

Http://www.lrsa.co.za

GRV for HALEWOOD INTERNATIONAL - LRSA NR: 3373 (GRV)

Receiver: Morganathan
Checker: Morganathan
Warehouse: HALEWOOD
Sender Ref 1: 29790
Receive Date: 2025-03-24
WarehouseRecv: LR CLAIRWOOD
Sender Ref 2: 102752

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
HORISTRAW4X2	ORIGINAL ICE STRAWBERRY DAIQUIRI 4 X 2L	03/03/27		14	56
HORIPINA4X2LTR	ORIGINAL ICE PINA COLADA (4 X 2L)	13/03/27		10	40
HORIMARG4X2L	ORIGINAL MARGARITA 4X2L	30/01/27		10	40
HORIMOJITO4X2	ORIGINAL ICE MOJITO (4 X 2L)	15/02/26		5	20
HOIRCOSMOP4X	ORIGINAL ICE COSMOPOLITAN 4 X 2L	01/02/27		8	32
HCTP/APGBS27	C TWIST PEACH PARADISE NRB (24 X 275ML)	27/07/26		36	864
HCTSTRAWAT27	C TWIST STRAWBERRY and WATERMEL 275ML	17/07/26		19	456
HCTRUMCOLA27	CTWIST RUM AND COLA NRB (24 X 275ML)	29/05/26		8	192
HRSBLACK27524	RED SQ BLACK ICE (24 X 275ML)	17/05/26		13	312
HCTT/PUNCH24	C TWIST TROPICAL PUNCH NRB (24 X 275ML)	16/07/26		22	528
HRSPURPLE275	RED SQ PURPLE ICE (24 X 275ML)	18/08/26		17	408
HRSTEQ27524PI	RED SQ TEQUILA ENERGY (24 X 275ML)	11/06/26		10	240
HSKDPEACH	SKINNY D PEACH PUNCH (24 X 275ML)			6	144
HSKDP/FRUIT27	SKINNY D PASSIONFRUIT (24 X 275ML)	17/07/26		9	216
HRSELEBL27524	RED SQ ELECTRIC BLUE ENERGY (24 X 275ML)			8	192
HMUSGRVAGPN	MUSGRAVE GIN PINK (12 X 50ML)			3	216
HWHITGINLGRA	WHITLEY NEILL GIN LEMONGRASS (6 X 750ML)	L07		2	12
HHBPINKT24X20	HALL AND BRAM PINK TONIC CAN (24 X 200ML)	29/05/26		6	144
HBUFFELKOL440	BUFFELSFONTEIN AND KOLA CANS (24 X 440ML)			81	1944
HBUFFELKOL24	BUFFELSFONTEIN AND KOLA NRB (24 X 275ML)			78	1872
HHAENRACHE2	HASENRACHE HERBAL LIQUEUR (12 X 200ML)			12	144
				2,821.00	51,434.00
Total QTY Received				2,821.00	51,434.00

Checked By: _____

Receiver: JBK135FS

Transport Company: _____

Checker: COMFORT

Driver Signature: _____

25/03/2025 03:21:38 PM

3/3

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd c/o Halewood South Africa
 Company Registration number: 1998/001887/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

Printed on: 19/03/2025 at: 11:08:59

DELIVER TO: Shipping Instructions:

INVOICE TO: Halewood - Johannesburg
 Halewood International S A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

Halewood - Natal
 Halewood International S A - Natal
 ERF 860 on DUNNS GRANT
 Also known as 89 BARRIER LANE
 KWAZULU NATAL PROVINCE
 Office - 031 0231141

20023



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	2002169		19/03/25	19/03/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
7STARSBERRY 500ML	7 STARS BERRY NON-ALCOHOLIC ENERGY DRINK CAN 500ML	CS	16	0	HH	102.68	1,642.82
BELGINPITO275ML	BELGRAVIA GIN & PINK TONIC RTD NRB 275ML @ 5%	CS	19	0	HH	213.09	4,048.75
BUFFELKOL24X275	BUFFELSFONTEIN BRANDWEYN & KOLA RTD NRB 275ML @ 5%	CS	78	0	HH	229.75	17,920.65
BUFFELKOL440	BUFFELSFONTEIN BRANDWEYN & KOLA RTD CANS 440ML	CS	81	0	HH	299.58	24,266.00
CTP/APGBS27524T	CARIBBEAN TWIST PEACH PARDISE RTD NRB 275ML @ 5%	CS	36	0	HH	220.46	7,936.70
CTPCGBS27524T	CARIBBEAN TWIST PINA COLADA RTD NRB 275ML @ 5%	CS	78	0	HH	225.77	17,610.26
CTRUM&COLA275ML	CARIBBEAN TWIST RUM & COLA RTD NRB 275ML @ 5%	CS	8	0	HH	230.26	1,842.07
CTT/PUNCH24275	CARIBBEAN TWIST TROPICAL PUNCH RTD NRB 275ML @ 5%	CS	22	0	HH	225.92	4,970.31
HBDRYL24X200	HALL & BRAM DRY LEMON WATER CAN 200ML @ 0%	CS	4	0	HH	101.16	404.62
HBLEMONADE24X200	HALL & BRAM LEMONADE CAN 200ML @ 0%	CS	22	0	HH	86.67	1,906.63
HBNSTONIC24X200	HALL & BRAM NO SUGAR TONIC WATER CAN 200ML @ 0%	CS	18	0	HH	84.89	1,528.01
HBPINKT24X200	HALL & BRAM PINK TONIC WATER CAN 200ML @ 0%	CS	6	0	HH	86.40	518.41
RSLBLACK27524T	RED SQUARE BLACK ICE RTD NRB 275ML @ 5%	CS	13	0	HH	213.03	2,769.41
RSLBLUE27524T	RED SQUARE BLUE ICE RTD NRB 275ML @ 5%	CS	234	0	HH	210.71	49,307.17
RSELEBL27524T	RED SQUARE ELECTRIC BLUE ENERGY RTD NRB 275ML	CS	8	0	HH	240.06	1,920.46

Scan no: 7445131
 TD

7445140

GRV 3373

20/03

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd
 Company Registration number: 1998/001887/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

VAT Reg No: 4590177624
 MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

Printed on: 19/03/2025
 at: 11:08:59

DELIVER TO:

Halewood - Natal
 Halewood International S.A. - Natal
 ERF 860 on DUNNS GRANT
 Also known as 89 BARRIER LANE
 KWAZULU NATAL PROVINCE
 Office - 031 0231141

Shipping Instructions:

29790



INVOICE TO: Halewood - Johannesburg
 Halewood International S.A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	2002169		19/03/25	19/03/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
RSENGY27524PIB	RED SQUARE VODKA ENERGY RTD NRB 275ML @ 5.4%	CS	702	0	HH	237.01	166,377.69
RSPURPLE27524T	RED SQUARE PURPLE ICE RTD NRB 275ML @ 5%	CS	17	0	HH	212.73	3,616.38
RSRED27524T	RED SQUARE RED ICE RTD NRB 275ML @ 5%	CS	78	0	HH	216.45	16,883.24
RSRELOAD24S	RED SQUARE RELOAD ENERGY DRINK RTD NRB 275ML @ 0%	CS	78	0	HH	114.55	8,935.14
RSTEQ27524PIB	RED SQUARE TEQUILA ENERGY RTD NRB 275ML @ 5.4%	CS	10	0	HH	242.93	2,429.29
SKDPIFRUIT27S	SKINNY DIVA PASSIONFRUIT RTD NRB 275ML @ 3%	CS	9	0	HH	178.26	1,604.33
SKDPEACH	SKINNY DIVA PEACH PUNCH RTD NRB 275ML @ 3%	CS	6	0	HH	179.00	1,073.99
SKDSTRAWBERRY	SKINNY DIVA STRAWBERRY SWIRL RTD NRB 275ML @ 3%	CS	8	0	HH	177.33	1,418.63
WCPOGUES1X750	POGUES IRISH WHISKEY 750ML @ 43%	EA	0	144	HH	206.32	29,710.72
ORCOSMOP30012S	ORIGINAL ICE COSMOPOLITAN COCKTAIL POUCH 300ML	CS	16	0	HH	137.41	2,198.62
ORIMARG30012S	ORIGINAL ICE MARGARITA COCKTAIL POUCH 300ML @ 5%	CS	28	0	HH	118.28	3,311.90
ORIMOJITO30012S	ORIGINAL ICE MOJITO COCKTAIL POUCH 300ML @ 5%	CS	20	0	HH	128.38	2,567.59
ORIPINA30012S	ORIGINAL ICE PINA COLADA COCKTAIL POUCH 300ML @ 5%	CS	31	0	HH	125.08	3,877.37
ORISSLING30012S	ORIGINAL ICE SINGAPORE SLING COCKTAIL POUCH 300ML @ 4%	CS	18	0	HH	141.69	2,550.47
BUFFELLAGER340	BUFFELSFONTEIN LAGER 340ML @ 4%	CS	6	0	HH	227.97	1,367.81
BELGRAVIN750	BELGRAVIA LONDON DRY GIN 750ML @ 43%	CS	104	0	HH	689.27	71,684.08

12 cases of 4% damaged
 10 cases of 4% damaged

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd /a Halewood South Africa
 Company Registration number: 1998/001867/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

VAT Reg No : 4590177624

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 19/03/2025

at: 11:08:59

INVOICE TO: Halewood - Johannesburg
 Halewood International S A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

DELIVER TO: Halewood - Natal
 Halewood International S A - Natal
 ERF 860 on DUNNS GRANT
 Also known as 89 BARRIER LANE
 KWAZULU NATAL PROVINCE
 Office - 031 0231141

Shipping Instructions:



29790

CUST ACC	CUSTOMER REF	STORE NO.	BR	QUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	2002169		19/03/25	19/03/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BUFELBRA750	BUFELSFONTEIN BRANDEWYN 750ML @ 43%	CS	34	0	HH	793.88	26,991.83
CTRUMSPCED750ML	CARIBBEAN TWIST SPICED RUM 750ML @ 35%	CS	4	0	HH	644.42	2,577.66
CTRUMWHITE750ML	CARIBBEAN TWIST WHITE RUM 750ML @ 43%	CS	21	0	HH	697.89	14,655.77
RSVODENERINF750ML	RED SQUARE FLAVOURED VODKA ENERGY INFUSION 750ML	CS	23	0	HH	445.72	10,251.45
RSVODKA750ML	RED SQUARE VODKA 750ML @ 43%	CS	104	0	HH	691.43	71,908.24
RSVODLIME750ML	RED SQUARE FLAVOURED VODKA LIME 750ML @ 25%	CS	23	0	HH	450.72	10,366.56
RSVODPASFRU750ML	RED SQUARE FLAVOURED VODKA PASSION FRUIT 750ML	CS	9	0	HH	444.38	3,999.42
SKCOOKCRE750	SIDEKICK COOKIES CREAM LIQUEUR 750ML @ 15.5%	CS	7	0	HH	529.39	3,705.74
SKSTRA/CRE750	SIDEKICK STRAWBERRY CREAM LIQUEUR 750ML @ 15.5%	CS	1	0	HH	514.69	514.69
HOBSSWINEBTROSE750	HOUSE OF BNG SPARKLING WINE BRUT ROSE MCC 750ML	EA	0	12	HH	257.39	3,088.70
BELGINTON275MLNA	BELGRAVIA GIN & TONIC NON ALCOHOLIC RTD NRB 275ML	CS	3	0	HH	109.55	328.65
CTSTRAWAT 275ML	CARIBBEAN TWIST STRAWBERRY & W/MELON RTD NRB 275ML	CS	19	0	HH	225.44	4,283.32
WHITGINLGRASS750	WHITLEY NELL GIN LEMON GRASS & GINGER 750ML @ 43%	EA	0	12	HH	140.47	1,685.64
HOBBLANCNTARC250	HOUSE OF BNG BLANC NECTAR IN CARTONS 250ML @ 12%	CS	2	0	HH	730.44	1,460.88
HOBROSENECTARC250	HOUSE OF BNG ROSE NECTAR IN CARTONS 250ML @ 12%	CS	5	0	HH	730.44	3,652.20
RSVODKAPAPPLE750ML	RED SQUARE VODKA PINEAPPLE 750ML @ 25%	CS	7	0	HH	438.95	3,072.68

RECOVERS 2 CASES BOUT 750ML (28) (CLASSIC)

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd Va Halewood South Africa
 Company Registration number: 1998/001867/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

VAT Reg No: 4590177624

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

Printed on: 19/03/2025

at: 11:08:59

DELIVER TO:

Halewood - Natal
 Halewood International S.A. - Natal
 ERF 860 on DUNNS GRANT
 Also known as 89 BARRIER LANE
 KWAZULU NATAL PROVINCE
 Office - 031 0231141

Shipping Instructions:



29790

INVOICE TO: Halewood - Johannesburg
 Halewood International S.A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

CUSTACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	2002169		19/03/25	19/03/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BUFFELKOLBOEP275	BUFFELSFONTEIN BRANDY & KOLA BOEPENS RTD NRB 275ML	CS	4	0	HH	226.72	906.86
PEAKYBLINDER750ML	PEAKY BLINDER WHISKEY 750ML @ 43%	EA	0	150	HH	176.41	26,461.74
DMFRSRASPR440ML	DEAD MAN'S FINGERS RATTLESNAKE R&R RTD 440ML @ 5%	CS	30	0	HH	283.99	8,519.73
DMFDARKRUM750ML	DEAD MAN'S FINGERS DARK RUM 750ML @ 43%	EA	0	6	HH	150.10	900.62
GELSBLENDWH1X750	GELSTON BLENDED IRISH WHISKEY 750ML @ 43%	EA	0	54	HH	180.57	9,751.04
HBCITRS24X200	HALL & BRAM CITRUS TONIC WATER CAN 200ML @ 0%	CS	10	0	HH	116.49	1,164.88
BUFFELBRA200	BUFFELSFONTEIN BRANDEWYN 200ML @ 43%	CS	3	0	HH	467.52	1,402.57
MUSGRVGINORIG	MUSGRAVE GIN ORIG 750ML @ 43%	EA	0	12	HH	158.75	1,905.00
MUSGRVGINPINK	MUSGRAVE GIN PINK 750ML @ 43%	EA	0	126	HH	161.85	20,393.62
MUSGRVAGPNK12	MUSGRAVE GIN PINK CASE of 12 X 50ML	CS	3	0	HH	309.18	927.55
RSENGV440MLTD	RED SQ VODKA ENERGY 440ML @ 5.4%	CS	28	0	HH	299.21	8,378.01
BELGINLLEM660ML	BELGRAVIA GIN & DRY LEMON RTD NRB 660ML @ 5%	CS	400	0	HH	252.57	101,027.93
DMFRSRASPR275ML	DEAD MAN'S FINGERS RATTLESNAKE R&R RTD NRB 275ML	CS	29	0	HH	217.14	6,297.17
SKILPADTEPEL 275	SKILPADTEPEL RTD NRB 275ML @ 5%	CS	16	0	HH	233.80	3,740.77
HASENRACHE750ML	HASENRACHE HERBAL LIQUEUR 750ML @ 35%	EA	0	102	HH	119.29	12,167.73
BELGINDCHY275ML	BELGRAVIA GIN & DARK CHERRY RTD NRB 275ML @ 5%	CS	39	0	HH	210.47	8,208.21

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd
Company Registration number: 1998/001887/07
www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
APEX EXTENSION 1 FAX: +27 11 422 5888
BENONI 1501
PO BOX 2132
BENONI 1500
SOUTH AFRICA
VAT Reg No: 4590177624

BANKING DETAILS:
FIRST NATIONAL BANK
A/C NO: 62889748368
BRANCH CODE: 240129
REFERENCE:

Printed on: 19/03/2025
at: 11:08:59

INVOICE TO: Halewood - Johannesburg
Halewood International S A (Pty) Ltd
61 Toronto Street
Apex Extension 1
Benoni
1501

DELIVER TO: Halewood - Natal
Halewood International S A - Natal
ERF 860 on DUNNS GRANT
Also known as 89 BARRIER LANE
KWAZULU NATAL PROVINCE
Office - 031 0231141

Shipping Instructions:



29790

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	2002169		19/03/25	19/03/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BELGPLATGN750	BELGRAVIA PLATINUM LONDON DRY GIN 750ML @ 43% <i>Belgium</i>	CS 37	37	0	HH	691.89	25,599.78
DMFRSRASPRPCH	DEAD MANS FINGERS RATTLESNAKE POUCH RTD 300ML @ 5%	CS 3	3	0	HH	122.00	365.99
APPELSTOUTEFOUTE275ML	APPEL STOUTE FOUTE 275ML RTD NRB DONKER RUM & COLA	CS 1	1	0	HH	235.13	235.13
OIRCOSMOPAX2LTR	ORIGINAL ICE COSMOPOLITAN COCKTAIL 4 X BOX 2LTR	CS 8	8	0	HH	253.81	2,030.44
ORIMARG4X2LTR	ORIGINAL ICE MARGARITA COCKTAIL 4 X BOX 2LTR	CS 10	10	0	HH	224.86	2,248.58
ORIMOJITO4X2LTR	ORIGINAL ICE MOJITO COCKTAIL 4 X BOX 2LTR	CS 5	5	0	HH	232.36	1,161.82
ORIPINA4X2LTR	ORIGINAL ICE PINA COLADA COCKTAIL 4 X BOX 2LTR	CS 10	10	0	HH	232.88	2,328.80
ORISTR4W4X2LTR	ORIG ICE STRAWBERRY DAQUIRI COCKTAIL 4 X BOX 2LTR	CS 14	14	0	HH	234.43	3,281.96
BUFFELKOL660ML	BUFFELSFONTEIN BRANDEWYN & KOLA RTD NRB 660ML @ 5%	CS 27	27	0	HH	272.30	7,352.03
HASENRACHE200ML	HASENRACHE HERBAL LIQUEUR 200ML	CS 12	12	0	HH	584.70	7,016.42
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA 0	0	24	HH	5.22	172.26

HALEWOOD

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING

TRANSPORTATION:

PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION
Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.
No responsibility accepted for goods signed for unchecked
No goods may be returned unless prior arrangements are made in writing
Returns are subject to a 10% handling charge
Commercial quality equipment is not to be used for lifting applications

CUSTOMER:

PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION
Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.
No responsibility accepted for goods signed for unchecked
No goods may be returned unless prior arrangements are made in writing
Returns are subject to a 10% handling charge
Commercial quality equipment is not to be used for lifting applications

VEHICLE REGISTRATION No: *7MHSF* PRINT NAME: *Emelt*
SIGNATURE: *[Signature]* DATE: *23-03-2025*

PRINT NAME:
SIGNATURE:
DATE:

SUB-TOTAL	ZAR	884,689.59
VAT	ZAR	0.00
TOTAL	ZAR	884,689.59

LIQUOR RUNNERS CAGEE

START TIME: 12:00

Durban

FINISH TIME: 12:34

GOODS RECEIPT / ISSUE

No 55860

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME Comfort

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		LIQUOR Runner	
LOAD SHEET No:		VEHICLE REG No:	TBK 135 FS
CUSTOMER	L.P. CLW / HALEWOOD	DATE RECEIVED	24/03/

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) RED SQUARE ERIGER	702 ✓			5p+4p	26/08/26
2) 24x 275 ml					
3) RED SQUARE RELOAD	78 ✓			1p	15/07/26
4) 24x 275 ml					
5) RED SQUARE BLUE	234 ✓			2p+1p	06/07/26
6) ICE 24x 275 ml					
7) BELGRAVIA London					
8) Dry Gin (Dry lemon)	400 ✓			3p+2p	11/09/26
9) 12x 660ml					
10) RED SQUARE RED ICE	78 ✓			1p	06/08/26
11) 24x 275 ml					
12) BUHLESPONTEIN & KOLA	78 ✓			1p	
13) 24x 275 ml					
14) BUHLESPONTEIN & KOLA	81 ✓			1p	
15) 24 x 440ml					
16) CARIBBEAN TWIST	78 ✓			1p	13/06/26
17) Pina - COLADA 24 x					
18) 275 ml					
19) RED SQUARE Premium	104 ✓			1p	L334
20) Vodka 6x150ml					
PALET CONTROL: GKN	BLUE35#1				
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>INNOCENT</u>	DRIVER: <u>Comfort</u>
TIME COMPLETED: <u>11:13</u>	PAGE: <u>1</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55861

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) BELGRAVIA \$ London	104 ✓		1p		L162
2) Dry Cit 6x750ml					
3) HALL & BRAMLEY Pink	6 ✓				29/05/26
4) Tonic 24x200ml					
5) HALL & BRAMLEY	10 ✓				09/11/25
6) CITRUS Tonic 24x200					
7) HALL & BRAMLEY Dry	4 ✓				14/02/26
8) Lemon 24x200ml					
9) HALL & BRAMLEY	22 ✓				06/09/26
10) LEMONADE 24x200ml					
11) HALL & BRAMLEY	18 ✓				19/04/26
12) INDIA TONIC 24x200					
13) ml (NO SUGAR)					
14) RED SQUARE Energising	28 ✓				09/07/26
15) 24x440ml					
16) SKINNY DIVA STRAWBERRY	6x2 ✓				02/06/26
17) 24x275 ml					
18) SKILPACTEPEL 24x275	16 ✓				16/07/26
19)					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>2</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55862

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) THE DOGUES 6 x 750ml	24 ✓				L07
2) RED SQUARE PINEAPPLE	7 ✓				L10
3) 6 x 750ml					
4) RED SQUARE VODKA	23 ✓				L22
5) 6 x 750ml [ENERGY]					
6) RED SQUARE LIME 6x	23 ✓				L27
7) 750ml					
8) RED SQUARE PASSION	9 ✓				L31
9) FRUIT 6x 750ml					
10) SIDEKICKS STRAWBERRIES	1 ✓				L25 06/02/27
11) & CREAM 6x 750ml					
12) SIDEKICKS COOKIES &	7 ✓				L25 037 06/02/27
13) CREAM 6x 750ml					
14) PEAKY BLINDER IRISH	25 ✓				L06
15) WHISKEY 6x 750ml					
16) HASENBACHE HERBAL	17 ✓				L15
17) LIQ 6x 750ml					
18) HASENBACHE HERBAL	12 ✓		NOT SCANNING		L14
19) LIQ 12x 200ml					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>3</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55863

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	

CUSTOMER		DATE RECEIVED	
----------	--	---------------	--

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) MUSGRAVE Pink Gin	21 ✓				L16
2) 6x750ml (ROSE WATER)					
3) MUSGRAVE Botanic	2 ✓				L03
4) Gin 6x750ml					
5) DEAD MAN'S Finger	30 ✓				13/07/26
6) RATTLESNAKE RUM &					
7) RASPBERRY 24x440ml					
8) 7 STARS BERRY 6x4x	16 ✓				
9) 500ml					
10) BELGRAVIA Gin Pink	15+4 ✓				27/07/26
11) TONIC 24x275ml					
12) BELGRAVIA NON-ALC	3 ✓				08/08/26
13) Gin & TONIC 24x275ml					
14) APPEL STATE FOUTE	1 ✓				31/07/26
15) 24x275ml					
16) BELGRAVIA Gin & DARK	39 ✓				26/06/26
17) CHERRY 24x275ml					
18) DEAD MAN'S Finger	29 ✓				02/07/26
19) RUM & RASPBERRY 24x					
20) 275ml					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>4</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55864

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		
LOAD SHEET No:		VEHICLE REG No:

CUSTOMER		DATE RECEIVED	
----------	--	---------------	--

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) BUFFELSPONTEIN LAGER	511 ✓				14/11/25
2) 24 x 340 ml					
3) BUFFELSPONTEIN	4 ✓				01/05/26
4) BOEPENSKOLA 24 x 715					
5) BUFFELSPONTEIN & KOLA	20+1				18/07/26
6) 12 x 660ml					
7) BUFFELSPONTEIN BRAND	34 ✓				L197
8) EWYN 6 x 750 ml					
9) BUFFELSPONTEIN BRAND	3 ✓				L198
10) EWYN 12 x 200ml					
11) BELGRAVIN 10 PLATINUM	34+1 ✓				L15
12) m 6 x 750ml					
13) CARIBBEAN TWIST					
14) WHITE RUM 6 x 750ml	21 ✓				L35
15) SUPERIOR SPIKED					
16) CARIBBEAN TWIST 6 x 750	4 ✓				
17) DEAD MAN'S FINGER	1 ✓				L4
18) DARK RUM					
19) SAMUEL GILSTONS 6 x	1 ✓				L02
20) 750ml					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE; <u>5</u> PAGE; <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55865

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	

CUSTOMER		DATE RECEIVED	
----------	--	---------------	--

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) BNGT BRUT 6x750ml	2 ✓				205
2) HOUSE OF BNGT NECTAR	2 ✓				241023
3) BLANC 4x250ml					
4) HOUSE OF BNGT ROSE	5 ✓				241125
5) 4x250ml					
6) BATTLE SNAKE RUM &	3 ✓				16/02/27
7) RASPBERRY 12x300ml					
8) Riginal ICED COCKTAILS	18-1 ✓	TO SCAN	174		13/03/27
9) SINGAPORE 12x300ml					
10) Riginal ICED COSMOP	16 ✓				20/02/27
11) OLITAN 12x300ml					
12) Riginal ICED Mojito	20 ✓				17/01/27
13) 12x300ml					
14) Riginal ICED COCKTAIL	28-22 ✓	TO SCAN	244		03/02/27
15) MARGARITA 12x300ml	24 ✓				
16) Riginal ICED COCKTAILS	31 ✓				06/03/27
17) Pina COLADA 12x300ml					
18) Riginal SHAKEN	14 ✓				03/03/27
19) STRAWBERRY Daiquiri					
20) 4x2L					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>6</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

No 55866

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) ORIGINAL SHAKEN Pina	10 ✓				13/03/27
2) COLADA 4x2L					
3) ORIGINAL SHAKEN	10 ✓				30/01/27
4) MARGARITA 4x2L					
5) ORIGINAL SHAKEN	5 ✓				15/02/26
6) Mojito 4x2L					
7) ORIGINAL SHAKEN	8 ✓				01/02/27
8) CRANBERRY COSTROPOLITAN					
9) 4x2L					
10) CARIBBEAN TWIST PEACH	36 ✓				27/07/26
11) PARADISE 24x275ml					
12) CARIBBEAN TWIST					
13) WATERLON & STRAWBERRY	19 ✓				17/07/26
14) 24x275ml					
15) CARIBBEAN TWIST	8 ✓				29/05/26
16) Rum & KOLA 24x					
17) 275ml					
18) RED SQUARE black	13 ✓				17/08/26
19) ICE 24x 275ml					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>7</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 55867

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)	
LOAD SHEET No:	VEHICLE REG No:

CUSTOMER	DATE RECEIVED
----------	---------------

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) CARIBBEAN TWIST	23	1			16/07/26
2) TROPICAL PUNCH 24x					
3) 275 ml					
4) RED SQUARE Purple	17				18/08/26
5) KE 24 x 275 ml					
6) RED SQUARE TEQUILA	10				11/06/26
7) Energising 24x 275 ml					
8) SKINNY DIVA PASSION	9				17/07/26
9) 24 x 275 ml					
10) SKINNY DIVA PEACH	6				
11) 24 x 275 ml					
12) RED SQUARE ELECTRIC	8				
13) BLUE 24 x 275 ml					
14) WHITLEY NEIL					
15) LEMONGRASS & Ginger	2				LOT
16) Gin					
17) MUSGRAVE PINK	3				
18) Gin ROSE WATER 12x					
19) 50ml					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>8</u> PAGE: <u>8</u>